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GSE/D-21 718
ECONOMICS
Paper : 1
Micro Economics—I

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. Nos. 1 and 2 are

1.

compulsory. Attempt the remaining three questions,
selecting one question from any three of the four Units.
FA UE W % SW ST | Y GEm 1 gen
2 el € | WX woEE | 9 e 99 ¥ s
T g4 gL, W AT T % SW N |
Compulsory Question ( IFaTE WvT)

An apple producer is willing to supply 100 kilograms of
apples at ¥ 20 per kg. At the same time he is ready to
supply 200 kilogram at ¥ 30 per kg and 400 kilogram at
T 40 per kg. He does not want to supply any quantity if
the price is less than I 10 per kg.

Answer the following questions :
(a) Which law in economics determines apple

producer’s behaviour ? Explain the law.
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(b)

(©

(d)

Estimate the elasticity when price changes from
T 20 to X 40 per kg.

Make a schedule and draw a diagram of the given
information.

If the initial price and quantity supplied were zero,
what would be the degree of elasticity, assuming

the curve is a straight line ? 4x4=16

TH HE 3Rk 100 TRamm w9 woemgfd ¥ 20 uid
R & Rl AR ? | Wy & 98 200 fhawm
amufd ¥ 30 wfa fRcdim iR 400 Tt =t emgfd
T 40 9fa fretnmm #1 W 9w & foau 9RO Al
wimd T 10 wia fRm @ w9 ® q 9 T ot 9 e
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freifa wtar @ 2 wEA W e sifew |
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2. (a) Choose the correct answer : 5x1=5
e IW gAY :
(1) The term ‘economics’ has been derived from
the.............. language.
(a) French
(b) Latin
(¢) Greek
(d) None of the above
‘ST’ W W St Sl B el
(31) ®d
() wife
(®) *ew
() S W ¥ wiE T
(i) Economic problem arises due to :
(a) Limited resources
(b) Unlimited wants
(¢) Alternate uses of resources
(d) All of the above
e gHe S BT T
(30) wifd HErEAl & RO
() THifHd sTeRIshals & ®HRU
(W) Gae & defouss SWAN & R
(%) Sugs weft
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(iii)  Shift in the Demand Curve means :

(iv)

(a) Fall in the demand due to rise in price

(b) Rise in demand due to fall in price

(¢) Change in the demand for any reason
other than own price of the commodity

(d) None of the above

T sk H agaE oY € o

(a1) ®ma ¥ 3gfg & wRo A A fiREe

() #ima § fREe ® wwo oW 4 afs

(9) a% 1 Ul HhAd & ofamEr fopedt o
R G A H fEdd

() 3w & § ®E T

In case of Giffen Paradox, the slope of

Demand Curve is :

(a) Negative

(b) Positive

(¢) Parallel to X-axis
(d) Parallel to Y-axis
fieq foRieneme & AW H, A g% w1 edd
HEE

(31) TRIHE

(§) ThIIHb

() TH-314 & HAM®R
() awR-31g & FHMIMN
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(b)
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The marginal utility of a particular commodity
at the point of saturation is :

(a) Zero

(b) Unity

(¢) Greater than Unity

(d) Less than Unity

i & fog W foredt fovm axg = i
S e € e

(1) A
(%) ThE
(9) 3R © Sifuen
() THE 9 *H
Math the following : 5x1=5
(1)  Marshall (a) Socialism
(i) Social Welfare (b) No economic profit
(i1) Fixed Costs (c) Principles of
Economics
(iv) Break-up point (d) Complementary
goods
(v) Pen and Ink (¢)  Short-run costs
Fefafed 1 e wifNg
() TR (31) FHNER
(i) HEN HA (F) HE omitw o9 &l
(iii) Tf=a <@ (W) el & fagia
(iv) 3H-3@ dige  (I) Tk THA
(v) o SR WE (3)  SRUmei A
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(¢) Define the following : 3x2=6
(a) Iso-quant Map
(b) Income-Consumption Curve
(¢) Cross Elasticity of Demand.
fefafed 1 gk i
(31) STEE-Fare Ha
(9) E-E@9 T
(¥) A1 & wE aa |

Unit I (3T 1)

3. “Scarcity and problem of choice are the basis of all

economic problems.” Discuss. 16

Yol SR TER @t wEen et enfies wHeel W euR
g == iy
4. What is Elasticity of Demand ? Discuss any fwo methods

of measuring Elasticity of Demand. 16
qiT wm A= T 2 W K oA hl WO i fel &
fafe=i st fag=m sifST |

Unit II (3 1I)

S. Explain the Law of Diminishing Marginal Utility. Discuss
the importance and limitation of this Law. 16
HHid 3wl & 99 % = e | 39w &
Tew @R dme w5 faoe wife |
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10.
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Explain Consumers’ Equilibrium with the help of
indifference curve technique. 16

SHAMYHE Tk Tehdleh i HEEA W SUNRHRT Hod o
AT <hITST |
Unit III (318 III)

What is meant by Returns to Scale ? Explain its various

phases. 16
Yo & wfawa = e Y ? 2 wHes fafy= = e

A HIT |
What are internal and external economies and
diseconomies ? Explain their causes. 16
afiafer 3R aTe sreforaeond iR syufirseand = € 2
3Tk RN I A HIWT |

Unit IV (3&TE IV)
What is Cost of Production ? Distinguish between Fixed
Cost and Variable Cost. 16
SIS i @M 941§ 2 TR o oIk uReda o o
FW T HiWT |

Explain the relationship among TR, AR and MR under

Perfect Competition and Monopoly. 16
uof gieEifirar 8fR TwIfuehR % ofafd TR, AR 3R MR &

I G99 I T HIWC |



